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Or perhaps a stipulation is a separate issue.

OVERVIEW

mooIn previously' explained that (according to 1"7) X0wH ¥ym "y X &Y. If
the vwn »7v discredit the 7w through their testimony (as in the cases of
XYT1\11K) they are not believed. &2 followed this up with a query to 1"7;
what is the ruling if the o>7v stated (777 X7 °"n2, however) there was an oral
stipulation concerning this transaction (which was not yet fulfilled). On one
hand it seems that they are X10w" ¥71 since according to their testimony the
70w (as 1s), is not valid (unless the stipulation is fulfilled). On the other hand
perhaps they are not X7w? ¥71 since the *Xin is a *n> Nk XN, There are two
ways how to interpret this concept of >n»nX Xn?°» *Xin. Moo will explain
that only one is acceptable.
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The explanation of X7 °n>nR Xn2n °Xin and that therefore it is not
discrediting the 7vw, is that the 0’7y are testifying 11727 177 °Xin for a
different purpose and the 0>7v do not intend to uproot the 9uw entirely but

rather the 07V intend to merely add details —
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They are defining in what manner their testimony in the "W is effective,
and until now the ="vw is valid and the "ww will not be voided if the

stipulation is fulfilled —

- 20Whn NYNN INI PN 799N
Therefore there is no discrediting of the "vw; that we should say 5"y >nx &%
XIVWS v,

3t R maoin.

* The term w11° in Moo (usually) indicates that N0 is rejecting a more obvious understanding of the
text. mpon will shortly cite the rejected interpretation.

It is different than Xy7m\maax. In the cases of mIAR\RYTM it is the intent of the 0*7¥ to testify that (even
though we signed the “vw and it was properly delivered, nevertheless) the 70w is (presently) meaningless,
since it is a 7IR\XYTIM. However by °Xin they are testifying that the ww is valid, provided that the
stipulation is met. They are merely modifying their 2vws ovp. They are not X 0w? v, Therefore they are
believed (as 1"1 concludes). It would seem that if the time has already expired to be o>p» the *Xin, it would
be considered “uwi nyN;i (see nX99:7). See (however) *Rin "7 >"wA.
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moon will now mention the rejected explanation:
= ANMYNI IMTYY 790U KDY 991900 NOD 5NN NNYM WH9Y PN DaN

However, we cannot interpret the phrase >n> R 0?1 to mean that the *Xin
is a completely separate issue and it has no connection to their first

testimony of 71 37 >"n>. Rather we should view their testimony of 1727 177 *Xin —
- 093N 1Y ¥999 NINY PPN 190 ONY 119

As if they were testifying that the "vw was paid up where they would

obviously be believed. We should (perhaps) view >Xin the same as ¥119, and believe
them. M90IN rejects this interpretation.

moon will now explain why this last interpretation is incorrect:
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For if it were so; that °Xin is similar to ¥179; it is totally irrelevant to their
original testimony of 77 X177 °"'n2, then we have the following difficulty; what
does the X712 shortly ask, ‘if this is so, then it should also be the same by

two 2°7v who say 1727 171 °Rin’. The *Rini >7v should not be believed. This concludes
the quote from the X na.

moon will now explain the difficulty with the w155 1°X; namely, that the s'X7%3 question
(that the *X1n77 °7¥ should not be believed) is not understood:
= 9919)D NN INPINNR NN ININT 11994

For since the w157 X maintains that the testimony concerning a °Nin is a

* According to the first interpretation, the parts of their (somewhat conflicting) testimony, it X171 *"n2 and
1°127 17 °RID, are part of one (seemingly conflicting) testimony. However we can reconcile them by
assuming that 11727 77 °Xin is merely a modification of it X177 °"nd. The a7y had no intent of discrediting
the quw. According to the w19% PR, however, we view the o>V as offering two separate and unrelated
testimonies. One, that the 2vw was prepared and delivered properly and for all intents and purposes is a
valid "vw in all respects. Two, that the 0w does not really bind the parties, since an oral stipulation was
made, which limits the power of the Tvw. [It is as if they would say 77 X177 °"'n2, but the 70w was ¥179 a week
after he borrowed the money.] If we assume the second interpretation (the w197 1°X); the idea that Xn%°n *Xin
"n"nX allows their testimony to be accepted, is more readily understood (since there is no conflict between
the two separate testimonies), than if we assume the first interpretation. Nevertheless no01n rejects the X
wI9Y because of the ensuing difficulty.

3 xp9 2 ruled that if one of the 07y said there was a >Xin and the other said there was no Xin, the W is
valid without *X1n77 avp. The reason is that since both a7y testify to the validity of the vw (77 X371 °"n2), and
only one 7Y testifies that there is a *Xin, therefore one 7¥ cannot oppose two 0°7¥.

% That we consider the 79 who claims there was a *Xin as agreeing to the 0w 0vp, however he qualifies the
7uw and opposes the wwi 7y, by saying *&in (but not that he is considered as if he is not agreeing to the o1p
quwi by saying *Xin, and thus invalidating the v [for there is only one o»pni 7v]).

7 The s'xm3 question is; it should be considered as two 2°7y (who maintain there is a *Xin) against two °7v
(who signed the q0w). Why should the *X1ni7 >7¥ be believed?!
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totally different issue, then -

= 9NN DI1PHNM RYY DT 392 129N DN 9N
Two o7y are believed to testify on a separate issue even if their signatures
are available from elsewhere; the "vw can be 0»1pn without them, nevertheless the
o7y will be believed to testify on a N>R Xn?°n, such as y179.8 Therefore they should
also be believed to claim 11127 1°71 °Rin, since according to the w197 1°X the claim of Xin is
similar to the claim of ¥179. The s'®7 23 question is not understood. How can the X nx
compare two 2°7¥ to one T¥?! If two 07V claim °Xin, they are believed just as they would
be believed if they claim 179 (since they are not in conflict at all with the “vw). It is a

regular testimony of two 0>7v. There is no cause not to believe them —
- N0 1999 My 13511 NIT 9351 93 1129019 NYT 79 NN Y 10 DaN

However when one 7v claims °Xin, I will certainly say that he is not

believed just as one 7V is not believed to claim the 20w is paid up if the m»

is in possession of a 0 pPn VW.
29395915 AN 79Y

therefore it appears that °*n°nx Xn?» means as we explained it; that it is
merely a modification of the 7w, but not that it is totally unrelated to the 70w as the 7°X
w15% maintained.

SUMMARY

2°7v who maintain 11°727 77 °Xin are believed, since *n>nR X097 Xin. The
XiN is not discrediting the 0w, but rather it is merely a modification of the
Tow.'" (However the *Xin is not considered to be something irrelevant to the
W as, for instance, the claim of 379).

¥ Moo may (also) be alluding to the question posed on the w17 PX by the w"X 71 nvown. If *xan is similar
to 119, then °Xin should be believed even if X"pnn KXY °"nd. From the entire X M3 it seems that all the
discussions are only if X"pnn RX¥1” 2"n3 X (see previous 1" KR 7"7 N1DOIN).

? An 7% 73 is not believed by mamn 217 (against a 0w).

' According to moon, the question 1 >0 "X, is readily understood. If we assume that when one 7 claims
°Rin he is not believed, it must be because his testimony of *Xin is not 9P the 7vWw to repeal his a1p; but
rather it is considered as if his original testimony of °"n> remains as a valid o1p, which he wishes to
modify. This modification is not acceptable since it opposes the Wi >7y. Similarly when two 077y say *Xin
they are also not being 7w their ovp, but rather they choose to modify it. How can they be believed to
modify the "W since it is a 27pn WW; it is ™M n?! [The X3 concludes that even by an X"y who says
Rin, the *Xin must be fulfilled (to validate the 7ww), for since he is not X1vw? v, his modification is
accepted (in regards to his testimony), and therefore there are no two 7% who testify that the qvw is valid
as is. (See 77°K1 ,°271 >R "7 °"w").] See ‘Thinking it over’ # 1.

" There are four levels (of X10w» ¥ 5"y *nX [X2]) according to 1"1. 1. 2°01X1 o°1vp are believed since there
never was a valid 7uw. 2. 71KRY RYTIN are not believed since they are 80w ¥, 3. °Rin is believed for it is a
IR XN and not P the qww. 4. ¥179 (by the 71?) is believed since he is not X0wH ¥,
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THINKING IT OVER

1. What is the ruling if one 7v claims *Xin;'* according to Moo and
according to the '"w19% PX'?

2. Mmoo proved from the X7nx that the w19? PX is incorrect. However, why
indeed did the &7n3 not accept the view of the w197 P&?!

12 See footnote # 10.
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